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QUESTION 1

You find that in the Top 5 Timed Events section of the Automatic Workload Repository (AWR) report, the wait event
buffer busy waits shows significantly high values.The database uses only non-ASSM locally managed tablespaces.On
further investigation, you find that the contention is on data blocks.Which option would you consider first to decrease the
wait event values on a long- term basis?

A. decreasing PCTUSED

B. decreasing PCTFREE

C. increasing the number of DBWn processes

D. using automatic segment space management (ASSM)

E. increasing db_buffer_cache based on the V$DB_CACHE_ADVICE recommendation

Correct Answer: D

QUESTION 2

The Service-Level Agreement for the production database includes a clause that the database down time should not be
more than 15 minutes.Which two details would you examine in the alert log to diagnose whether your database meets
this requirement? (Choose two.)

A. log switch frequency

B. data file recovery time

C. instance recovery time

D. deadlock and timeout errors

E. the FAST_START_MTTR_TARGET parameter setting

Correct Answer: CE

QUESTION 3

You observe that suboptimal execution plans for the queries are being generated on a table that previously used less
resources. You have collected statistics on these tables two days ago. The optimizer statistics retention period is set to
31 days. You are able to find the timestamp information about statistics update from the DBA_TAB_STATS_HISTORY
view. Because it is a frequently queried table, you would like the optimizer to generate better plans. Which action would
enable you to use the previous set of statistics on the objects that may lead to better execution plans?

A. restoring statistics from statistics history up to the desired time
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B. deleting all AWR snapshots collected after the time of desired statistics collection
C. applying the flashback table technique until the time of desired statistics collection
D. setting the OPTIMIZER_PENDING_STATISTICS parameter to TRUE to use the previous version of statistics

Correct Answer: A

QUESTION 4

Examine the output of the query given below: SQL> SELECT mutex_type, location, sum(gets), sum(sleeps) FROM
v$mutex_sleep_history GROUP BY mutex_type, location; MUTEX_TYPE LOCATION SUM(GETS) SUM(SLEEPS)
Library Cache kglhdgnl 62 8669586 4538 Library Cache
kglget2 2 2016618 24 Cursor Stat kkocsStoreBindAwareStats [KKSSTALOCS8] 2975 1 Cursor Pin kkslce [KKSCHLPIN2]
666831 678 Library Cache kgllkdl1 85 3369224 110 Library Cache kglpnall 90 224199 13 Library Cache kglicl 49
42068 10 Library Cache kglpinl 4 9620087 374 Library Cache kglpndI1 95 2065089 79 9 rows selected. Which
statement is true?

A. Each row in the output represents a SQL statement that had to wait for mutexes.
B. The Cursor Stat and Cursor Pin SLEEPS indicate that the CURSOR_SHARING parameter is set to EXACT.

C. The GETS column shows the number of times a mutex/location was requested by the requesting session while being
held by the blocking session.

D. The sum of numbers in the GETS and SLEEPS columns indicates the number of times a mutex/location was
requested by the requesting session while being held by the blocking session.

Correct Answer: C

QUESTION 5

Examine the initialization parameter values for the instance given below: NAME TYPE VALUE
optimizer_capture_sql_plan_baselines boolean FALSE
optimizer_dynamic_sampling integer 2 optimizer_features_enable string 11.1.0.6 optimizer_index_caching integer 0
optimizer_index_cost_adj integer 100 optimizer_mode string ALL_ROWS db_file_multiblock_read_count integer 64 The
index created on the column used in the WHERE clause of the query. You notice that the query is not using the index.
Instead of an index scan, a full table scan is used. View the Exhibit and examine the autotrace output for a query.
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gelect * from employees where employee id=107:

Execution Flan

(N) ] ag:an:ai1 |

AFLFECT STATEMENT | | 1 1 A
¢ | 3 (0) ] DO:00:01 |

TABLE ACCESS FULL| T | %’

1 - filter ("EMFLOYEE TD"=1%)

What could be the reason for it? (Choose all that apply.)

A. The OPTIMIZER_INDEX_COST_ADJ initialization parameter has a low value.

B. The DB_FILE_MULTIBLOCK_READ_COUNT initialization parameter has a low value.

C. The statistics for the table and all the indexes associated with the table are not current.

D. The table has less than DB_FILE_MULTIBLOCK_READ_COUNT blocks under the high- water mark.

Correct Answer: CD

QUESTION 6
You work as a DBA for a company and you have the responsibility of managing one of its online transaction processing

(OLTP) systems. The database encountered performance-related problems and you generated an Automatic Workload
Repository (AWR) report to investigate it further. View the Exhibits and examine the AWR report.

170-054 PDF Dumps | 1Z20-054 VCE Dumps | 120-054 Exam Questions 4/13


https://www.pass4itsure.com/1Z0-054.html
https://www.pass4itsure.com/1Z0-054.html
https://www.pass4itsure.com/1Z0-054.html

VCE & PDF https://www.pass4itsure.com/1Z0-054.html
2021 Latest passditsure 120-054 PDF and VCE dumps Download
PassditSure.com

Top 5 Timed Foreground Events

s ceu | [ =as | 29.08 |

[ibrary cache: mutex X | 14,721 | 71| = 2.53 |Concurrency
latch: shared pool | 1,158 SE | 43 | 278 |Cencurrency
||::umun pinE'.'.'a'rtﬂn}{| 3.???| 50| 13| E.E[I|I:un|::urrﬁm:::,r
|ing file 2yne [ &72] 17| 5| 0.82 [Commit

Time Model Statistics ®

30 do nol contribute to the DB tims staiistic

« Total time in databazs user-callz (DB Tims): 2008 5=
# Siatlstics incliding the word "background” measurs background pro
= QOrdercd by 50 or DB time deac, Statiztic name

|2ql sxecute slapzed lims | 173184

|DB CPU | 53-1_&|
|parsz time slapaed | =33

Ehﬂrl:l parze elapsed tms
||:>nnn£-|::ﬁnn managsment call elapaed tims
|€EDL compilation eapssd time

!.la'.rﬂ exscution slapzed tims

|fﬂ-i|'E:|' parze slapzsd 1me 025
[PLiE0L execution slapzed 3.66 | 018
iﬁan:l parsze (zharin j time: | 152 | 010
[hard pars= ibi tims | 122 0.07
\sequencs Ioad =l | 0.41 | 0,02
|repeated bind slapasd | 0.05 | 0.00
|D8 time | 200845
{background elapzed ima | 3208
Ibﬂckgrnunﬂ cpu time | -i.'r'5*|

170-054 PDF Dumps | 1Z0-054 VCE Dumps | 1Z0-054 Exam Questions 5/13


https://www.pass4itsure.com/1Z0-054.html
https://www.pass4itsure.com/1Z0-054.html
https://www.pass4itsure.com/1Z0-054.html

https://lwww.passditsure.com/1Z0-054.html

VCE & PDF
2021 Latest passditsure 120-054 PDF and VCE dumps Download
Pass4itSure.com
Load Profile
DB Time(z): [ 38| 126 | 0.01
o8 celis): | 11 a7 000 0.0
[Redo size: | 6,062.3 20,1501 | |
|Logical reada: | 54825 | 18,9243 |
|Block changes: | 255 B4.5 | |
[Physical rzans: | 27752 52527 |
[Pliysical villes. | 28| a7 |
[User calls: | 1,263 42077 | |
|Pars=s: | 5066 1,687.2 |
|Rard parses: | 533 1775 |
[vera 1B procez=sa: | 7265463 | 2.420,040:5 | |
|Lu_n;un5: | 154 | 3'.‘5| |
[Frrrites | =12 | 17085 | |
[Rslbacks: | 01 03| |
hrana-&r:tlcm—z-: | B3 | [ |
Dictionary Cache Stats

& FotMiszac'should bo vany low (e 25 in mestosses)
& Firz Uszgz strsnomesrof cachoantres teng ussd

%j.. Zwr_santial | 13 Eziz

I darstass e | 1574 53|

8o global s | =413 Z5T

5= pistegrem dats | Ee— ZE

Iu'.-. bistogrsm defe | 1BEE Zite

I sbisor grants | 404z 417 |

T [ 25750 i |

oz crofim | 45 zE :

e | 21 5

ko ssgments | 2= ! Far)
I _=S=ojuEnces | IE 1 [}
= tstiesczces | 85555 3 :

o usr= | 7 2 )

é"ﬂ;w:sls.’:ﬁ_sﬁ'ﬁﬂ'.': | g 2 1

palsubhesp ohisct | 2 a G

[ 3 2

L-ul: tzadiy sl=ls

wh

| Cwl w w »
lciusTER [ 2181 | 181 = 234 | g 2
[ino=x | w7 | s 347 | 2 | 1 g
lieva paTe | 1| ez gra| amm a| ]
[roLsr=s | sz | = gazgEs | izme | 2 | s
TaElZTROZEDUAE gz | zam mosm | ez Eae 3
TRIGEER | sz | oz = 223 | )

170-054 PDF Dumps | 1Z0-054 VCE Dumps | 1Z0-054 Exam Questions

6/13


https://www.pass4itsure.com/1Z0-054.html
https://www.pass4itsure.com/1Z0-054.html
https://www.pass4itsure.com/1Z0-054.html

VCE & PDF https://www.pass4itsure.com/1Z0-054.html
a 2021 Latest passditsure 170-054 PDF and VCE dumps Download
== / PassditSure.com

What could be the problem in this database?

A. Java pool is not configured.

B. The CPU in the system is slow.

C. The shared pool size is inadequate.

D. The database buffer cache is inadequate.

E. The OPEN_CURSORS parameter is set to a small value.

Correct Answer: C

QUESTION 7

You are working on the Database using file system RAID level O striping. You want to migrate the database files to the
Automatic Storage Management (ASM).

The applications supported by the database primarily perform small, random 1/Os in which each foreground process
reads a data block into the buffer cache for updates and the changed blocks are written in batches by the DBWR
process.ldentify two outcomes of ASM striping in combination with RAID 0. (Choose two.)

A. It provides higher bandwidth.

B. It negatively impacts the write-intensive workloads.

C. It allows you to evenly distribute disks for your data.

D. It causes contention on Data and Flash Recovery Area (FRA).

Correct Answer: AC

QUESTION 8

Examine the values for the following initialization parameters:

STATISTICS_LEVEL = TYPICAL TIMED_STATISTICS = true You are managing an online transaction processing
(OLTP) system. Application users notice that some queries have poor response time. You determine that queries from

session ID 27, serial number 60, for user OE are heavy-resource

consumers. To investigate further, you enabled tracing for the session by executing the following command: SQL>
EXECUTE dbms_system.set_sql_trace_in_session (27, 60, true); Which statement is true?

A. The tkprof output file for the trace generated would display only the timed statistics for the SQL statements.
B. The tkprof output file for the trace generated would display statistics for all the sessions created by the user OE.

C. The tkprof output file for the trace generated would display bind variable values if bind variables are used in the
gueries executed in the session.

170-054 PDF Dumps | 120-054 VCE Dumps | 1Z20-054 Exam Questions 7113


https://www.pass4itsure.com/1Z0-054.html
https://www.pass4itsure.com/1Z0-054.html
https://www.pass4itsure.com/1Z0-054.html

. VCE & PDF https://www.pass4itsure.com/1Z0-054.html
a 2021 Latest passditsure 120-054 PDF and VCE dumps Download
== / PassditSure.com

D. The tkprof output file for the trace generated would not display bind variable values if bind variables are used in the
queries executed in the session.

Correct Answer: D

QUESTION 9

You observed that some of the queries are performing poorly on the SALES_RECORDS table in your database.
On further investigation, you find that at the end of each day the contents of the SALES_RECORDS table are
transferred to the SALES table and deleted from the SALES_RECORDS table. The deleted operations cause the table
to be

sparsely populated. The SALES_RECORDS table has Automatic Segment Space Management (ASSM) and row
movement enabled. The table is accessible in 24x7 mode. What is the most efficient method to improve the
performance?

A. Perform EXPORT, DROP, and IMPORT operations on the SALES_RECORDS table sequentially.

B. Shrink the SALES_RECORDS table by using the ALTER TABLE...SHRINK SPACE command.

C. Move the SALES_RECORDS table to a different location by using the ALTER TABLE...MOVE command.

D. Deallocate the space in the SALES_RECORDS table by using the ALTER TABLE...DEALLOCATE UNUSED
command.

Correct Answer: B

QUESTION 10

You are working on a development database that was upgraded to Oracle Database 11g from Oracle Database 9i. An
ADDM finding in this database says that the shared pool is inadequately sized, as shown in the Exhibit.

ORACLE Enterprise Manager 11¢g Setup Prefersnces Hel
Datahase Control Diats

s —
4%
e . tral >
: 3l = £3
ostic Monitor (ADD ¥S.ADDM:1159023676_1 1340 > Logge

Performance Finding Details: Undersized Shared Pool {@'
Finding Hard parses due to an inadequately 5ize_|,:13 Wared poel were consuming significant database time, |_Hinding History |
Impact {Active Sessions) .69 1‘{" 4
trpact (%) [ 425 1
Feriod Start Time Jul 29, 2008 7:23:34 PM GMT+[I?:235§3)
Feriod Duration (minutes] 24.4 b

Filtered No | Filters |

You diagnosed that this is due to different kinds of workloads and this occurs only during peak hours. You tried to resize
this by shrinking the database buffer cache but that caused inadequate buffer cache problems. The following are the
related parameter settings: SQL> show parameter sga NAME TYPE VALUE
----------------- lock_sga boolean FALSE pre_page_sga boolean FALSE sga_max_size big integer 300M sga_target big
integer 0 SQL> show parameter target NAME TYPE VALUE -----m-mmmm oo e e L
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fast_start_mttr_target integer 0 memory_max_target big integer 0 memory_target big integer O pga_aggregate_target
big integer 100M sga_target big integer 0 You want to balance the memory between the System Global Area (SGA)
components within SGA without affecting the size of the Program Global Area (PGA). Which action would solve this
problem?

A. Set the SGA_TARGET parameter to 300M.

B. Set the SGA_MAX_SIZE parameter to 400M.

C. Set the MEMORY_TARGET parameter to 100M.

D. Set the MEMORY_MAX_TARGET parameter to 300M.

Correct Answer: A

QUESTION 11

You used SQL Tuning Advisor for a long-running SQL statement that suggested a SQL profile which can be used by the
query subsequently for better execution plan. View the Exhibit. But you want certain user sessions not to use this SQL
profile for their queries. How would you implement this?

| Unpack
"Ehaznlej _Eii'sa'bl'é) Eii’npj ii'hange'liat'egnr\;:} |-3-E-ll:|'i_] (9‘3
Select All | Select Hone &
Select Hame SQL Text _§° category|stams |treated Last Modified |
[] SYS_SGLPROF_0146ced728214000 ELECT 1+ OF 5}53” |USE MLC) pEFAULT  ENABLEDJUI 19, 2008 Jul 20, 20 R§3ER
FULLIC) FULLI S @ €O... 7:47:50 FM 1:07:39 F
& TIP The table will display maximum of 2000 rows. Use s=arch criteria to get the dzsired results. 5

A. Alter the SQL profile to change the category of the SQL profile.
B. Set the OPTIMIZER_USE_PENDING_STATISTICS to TRUE the desired sessions.
C. Use database resource manager to prevent the use of the SQL profile by these user sessions.

D. Use database resource manager to preUse the resource management feature in profiles of these users to prevent
the use of the SQL profile.

Correct Answer: A

QUESTION 12
You work on an online transaction processing (OLTP) database in which the SALES table has 10,000 rows but only four

distinct products are sold. View the Exhibit named HIST to check the distribution of values in the table and the
histograms on the table.
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Values Distribution in the SALES Table:

3QL> JELECT prod id, count(* as prod id count
VG oalcao

GROUP BY prod id

ORDER BY prod id count a8C;

[

1=

PROD_ID PROD_-D COUNT O

Histograrms:
AQL> AOLOOT cndpeint T n:.nl:lpnint_anun:
Z FRCM dba his
4 WHEERE tabl THALER' AND column name="FROD L[D";
ENDEOTNT FOTNT VALUE
Q 1
a o
00 4
10001 4

View the Exhibits named QUERY-1 and QUERY-2 that show details in the V$SQL view for the queries executed on the
SALES table.

Execute 3 query on sales for prod id 1.

F0L> VIRTABLE prod id NUMBER:
SQL> EXEC :orod did := 1 &
PL/30L proczdure successfully completed. Oo

S0L> SELECT % FROM sales WHERE prod id = :prod id: Q’

Query vsql to see the plan detalls: 93
o&
cabile, exevulluns

S0L> SELECT =sgl_id, child number, plan hash walue, t \

2 syl Lesdl, Is bimd sensllive, ls biod dwdare, 1

3 FROM wisgl 9
4 WHERE =gl text LIKE 'saaless'

L AND =gl _text NOT LIFE 'Zegl teuxts!
6 AND =gl text NOT LIKE '$EXPLAIN PL§?
VA 5QL_TEXT

50L_ID CHILD NUMEEE PLAN HASH

adxdgutrhbip ] 12537868354 gelect * from sales where prod id = :prod id

You check the plan table and notice that both the queries that executed on the SALES table used index range scan. The
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second query retrieved most of the rows in the table but used index range scan.

Execute a guery on sales for prod id <4

30L>» EXEC :prod id := 4
PL/ABAL procedure successfiully completed.

G0L> SELECT * FROM sales WHERE prod id = :prod id;

Query vEsgl to see the plan details:

50L> SELECT agl_id, child number, plan hash wvalue,
2 3ql text, is bind sensitive, 13 bind aware, i1s sharesble, executions
3 FROM wgsgl
4 WHERE sgl_text LIFE '%saless!'
5 AND =ql text NOT LIFE 'ssgl textcs!
6 AND sql_text NOT LIEE 'SEXPLATN PLAN%':

’ I I I EXECUTIONS

SOL_ID CHILD NUMEER FPLAN HASH VALUE  SQL_TEXT
adx3cruerhbdp 1] 1269786354 gelect * from saie( "1id = iprod id THY 2
Values Distribution in the SALES Table:

£

S0L> SELECT prod id, count(*) as prod id
2 TROM sales
3 GROUP BY prod id
4 ORDER BY prod id count ASC;

L/

N

FROD_ID FROD_ID COUNT

1 1

2 1

3 498

4 a5
Histograms:

Wber, sndpeoint_waluc
to 3
" name="RALE®" AND column name="FPROD ID";

JQL> DELECT
Z FROM
3 WHERE

ENDECINT NUMEE

ENDEOINT VALUE

1 il
500 3
10001 4

Why would the second query use the same plan?

A. because the plan was bind aware

B. because the bind peeking never happened

C. because the OPEN_CURSORS parameter is set to a very low value

D. because the optimizer did not consider selectivity due to the use of bind variables
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Correct Answer: D
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